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QUESTION NO: 1

Is the following statement about the introduction of frequency planning correct ()?
(Select 2 Answers)

A. 2.4GHz generally uses 1, 6, 11 three non-overlapping channels for coverage
B. In China, 5GHz generally has 23 non-overlapping channels available

C. Microwave interference will occur in the entire 2.4GHz frequency band

D. If the AP is dual-band, it is recommended to use the 5G priority function

ANSWER: AD

QUESTION NO: 2

The antenna gains gain through ().

A. Use power amplifiers in antenna systems

B. Make the antenna radiation more concentrated
C. Use high-efficiency antenna feeder

D. Use equipment with low standing wave ratio

ANSWER: B

QUESTION NO: 3

pass through FTP Way to upgrade AP, You need to ensure AP and FTP Servers can communicate with each other, and AP
Put the upgrade file in FTP Root directory.

A. True

B. False

ANSWER: A
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QUESTION NO: 4

WLAN When configuring the network, WMM Which of the following templates should the template be bound to ()?
A. radio-profile

B. traffic-profile

C. security-profile

D. service-set

ANSWER: B

QUESTION NO: 5

802.11 In the frame, it means that the wireless station AP When sending a signal, To DS and From DS What are the values
of ()?

A.0,0
B. 0,1
C.1,0

D. 1,1

ANSWER: C

QUESTION NO: 6

The following statement about the AP access control method is incorrect ().

(Select 2 Answers)

A. By default, the control method for AP to access AC is non-authentication

B. By configuring the AP in an offline state, authentication is required to automatically access
C. The configuration whitelist can be authenticated based on MAC or SN

D. If MAC authentication is used for AP access control, APs outside of the MAC authentication list can also go online after
manual confirmation
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ANSWER: AB

QUESTION NO: 7

Which of the following functions does the Huawei WLAN planning tool have ()?
(Select 3 Answers)

A. Support automatic identification of obstacles

B. Support the division of general coverage areas and key coverage areas

C. Support automatic deployment of AP locations

D. Support exporting standardized WLAN planning reports

ANSWER:BCD

QUESTION NO: 8

2.4 GHz What is the frequency band US non-overlapping channel ()?
A.2,7,12

B. 3,8,13

C.1,6,11

D.3,7,13

ANSWER: C

QUESTION NO: 9

What are the general methods to solve co-channel interference (). (Select 3 Answers)

A. adjust AP Transmit power, adjust antenna feeder

B. Reasonable frequency reuse to ensure that the same channel does not appear in the same or adjacent coverage areas
C. Use omnidirectional antennas for coverage

D. Use obstacles for natural isolation
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ANSWER: ABD

QUESTION NO: 10

For one adopts WPA2 PSK Certified and SSID For broadcast wireless networks, users can double-click the username and
password to access the network. SSID And enter the correct use

A. True
B. False

ANSWER: B

QUESTION NO: 11

Which of the following is correct about the power calculation ()?
(Select 3 Answers)

A.0dBm=1mW

B.3dBm=2mW

C. 10 dBm = 100mW

D. 27 dBm = 500mW

ANSWER: ABD

QUESTION NO: 12

Which of the following devices belong to Huawei Wireless Dual Band AP(Access Point )?
(Select 2 Answers)

A. AP5010DN

B. AP5010SN

C. AP6010SN

D. AP6010DN
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ANSWER: AD

QUESTION NO: 13

802.11 In the frame, Address Which address bit represents the address of the receiving end of the frame ()?
A. Address 1

B. Address 2

C. Address 3

D. Address 4

ANSWER: A

QUESTION NO: 14

The following pairs PSK The authentication description is wrong ().

A. PSK Authentication requires the same pre-shared key to be configured on the wireless client and device

B. WPA and WPA2 All support PSK Certification

C. PSK The authentication process is similar to the shared key authentication process, so the security is the same

D. PSK Certification is passed 4 Handshake Key Negotiate to verify STA side Key The legitimacy

ANSWER: A

QUESTION NO: 15

for dBm ,dB,dBi, The following description is correct ().
(Select 3 Answers)

A. dBm : Absolute value of characterizing power

B. dBi and dBd : Characterize the relative value of gain
C. dB The relative value of characterizing power

D. If the antenna of A is 12dBi, The second antenna is 14dBi , It can be said that A is smaller than B 2dBi
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ANSWER: ABC

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

